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D C B A Questions /  <yly )
(@-b)® ad-b’ @+b)’ a3 +b’ a®-3a%b + 3ab? —b% =7 1
s Pt A s et et PP il 2
) . An irrational number that contains radical
Natural number | Rational number Surd Mixed surd sign is called:
3 503
(x=2)(x2 =2x +4)| (x = 2)(2 +2x +4)] (x +2)(x2 = 2x + 4)| (% +2)(x2 + 2x +4) -?—dfb( x*+8| 3
Factorization of x3 +8 is:
2 1 3 0 e C'n,_w( JJ/E’( J.J)..{ 4
A linear polynomial is of degree:
‘ W 2y 1 2x2
2x +1 x -1 x+1 2x=1 Lt i i
HCF. of 2x? +3x+1, 2x2 —x 1 is:
: i x-1]=4
6.3 5,3 (-5, -3 6 -3 e U= 5
The solution set of [ X ~1]|=4 is:
C m-—2=
o —— - M (n‘f"uyué_nu!m:’nm nf' 7
If m~-2 =n, then relation between m and
nis:
..“ /,f > 5 2 -
<SS (0} (—1-1} (-1} e s S x2+2x+1=0| 8
Does' not exist The solution set of x2 4+ 2x +1=0 is:
urél y s 4../0’ :(af:l/gf.w) 9
2 ! 3 4 The number of techniques to solve a
quadratic equation is:
WLy sl S S et AdmAt=—A S| 10
Square matrix Transpose Skew symmetric Symmetric If At = _A,then A is called:
t =9 =
A(B[ BtA[ Bt At (AB) : 4&()}.’% 11
In matrices (AB)' = ?
HLIT T st s e b 1807 S 90038 Pots| 12
An angle more than 90° and less than 180°
Right angle Reflex angle Acute angle Obtuse angle  |{s called:
3 i 5 i e Jmfﬁd/..&ﬂtz:uz;!)ui’wu’r 13
The number of angles bisectors in a triangle
is:
A 2 3¢ A w'l ubf(gftz{*’{ 14 | _
Volume of a cube with edge '¢' is:
, > s ot e bneddeas il wdnstdé s 15
Zero Negative Positive A point in 4th quadrant has its ordinate:
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( Part -1 Jil s )

Write short answers to any SIX parts.

If P(y) = 3y += +9 , then find P0) .

1 8m° x3
—36m®x% +27m*x8

450 +200 ++/50

Simplify:
Simplify:

Factorize: 3ax — 4bx + 6ay — 8by

Define linear polynomial with example.

Factorize: 125+ 2°

Find H.C.F. by factorization:  abxy , a’bc

Find L..C.M. by factorization: l2p3q2 » 8P2q"3 ) 4P2q3“

Find the square root of: 16x% +24xy +9y?
Write short answers to any SIX parts.

Define solution of linear equation.

Soive: 9x =3(2x -8)+3
Solve: Jx-1=5
Salve: |44+3x|=9
Solve: (x-3)*=4

Write in the form of quadratic equation: (x+3)(x-)-12=0

Define diagonal matrix. Give an example.
1 3
2 8
-3 2|-1 5

4 ~1i~-1 3

Write short answers to any SIX parts.

Find multiplicative inverse:

Find product:

Define minor segment and draw its figure.

F80-6 125

S eyr L g e 3
e PO) S P(y) =3y + 24901 (D)

~36méj21+x27m4x8 = S
450 +200 +4/50 25 i)
3ax—4bx +6ay=8by L6 (iv)
FEW ALk W)
ZLUA (i)
abxy , a%be Lol L7 i)

125+23

12p°q , 8p%qr , 4p?eP’r el Pl sbaty i s (vii)

16x% +24xy +9y>  FEebd i (%)
& eir L 2ig e 3

Sk )

IX=32x-8)+3 L F (i)
Vax=1=5 . ZF i)
[4+3x|=9 L F (v
x-3?=4 ZESf

x+)x=D=12=0 20t Bl tlaGons  (vi)
_ Sty JE NGS5 (vi)

L 3] s o

I R Sy

ez L g e 3
RN A o O

Write the equation for the given triangle and find x° :

Define congruent triangles.

Draw an equilateral triangle with length of each side 6em.

Define tangent line.

( c"-d/lg )

é/r}" x° /J&b\/(fw(jn’d) (i1)

-E vt i
6 S b B LIS (iv)
LS ISovEa sy ()
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vo=2-

FBD-S/1-2> |
a=4,b=3,c=2 oML b« a BEpP O Sl Nt (vi)

Find the third side of each right triangle with legs a and b and hypbtenuse ¢ a=4.,b=3,¢c=2?

RAnAY éﬂé&ér}’*}%w,n)l;ﬂ?u:’" WVIGLALT  (vii)

Find the hypotenuse of right isosceles triangle each of whose legsis '¢'.

Define coltinear points. -F i SEsA (i)
Find the distance between points: (-2, —=1), (-1, 3) =2, -1}, (-1,3) :;érkl«uuwém (ix)

wuj/‘/ 08 Ldlr‘/; vgf_{(fawi.d:czﬂ’/ufaéf rf-'ajd dias

Part - II, Attempt any THREE questions. Each question carries 08 marks.

o3 1 . P
AU K b Xk =S 42 ()

If x=/5 +2, then find the values of X"‘—)I(* and X’ +'}‘3‘2".

Resolve into factors:  x? + 6ax +9a2 —16b? x*+6ax+9a’ —16b> &by Az (L)
Solve:  Jy—6+y=0 | Jy =6+y=0 s p (L)
Simplify: Zi :Ei - az;gibg;bz Zj ::j N az;"ﬂ’l;bz 25 ()
Solve by completing square method: X° —3 = 6x x? =3 =6x Zégfcﬁ;)ﬂd/ﬁ.' ()
Given that A=[12 _ﬂ verify that A2 4A+51=0 féfmb?ﬂA=[12 __?1)] PN

Solve using matrix inversion method: X~y =10, 2x+3y =3 :g‘.gdﬂc._.‘ig)d:hf'ﬁ'd:‘” ()
._u.nrf4 1 f?) UQUJGWLWLJE‘;.VJQWVQ ()

Construct a rectangle whose adjacent sides are 3cm and 4cm.

SR e 2596 R Pl (L)

Find the volume of a cube whose total area is 96cm?2 .

,:ﬁ?uﬁfgfgl,ufut}nyﬁﬁ; B(6, 8) s/ A2, 4) bBn P(x, y) .1 (L)
Express by an equation, the fact that the point P(x , y) is equidistance from A(2,4)and B(6, 8).
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D C B A Questions / = Uly Ve
Bl (A+B)Y Ludb| 1
A'B! Al 4+ B! B! P Al s
Sl In matrices (A +B)' =2
7 e, . 2,2
' : { 1336 3 , 2XyZ
B PN 212y filee < SbosE 3%y, 2xyz | 2
L.C.M. of 3x2y? | 2xyz is:
v i i I e Ot (2,98 3
Location of the point (=2, 4) is in quadrant;
imz . nr2h nrlh e mf(,,tpd,;bd,,f_g 4
3 2 3 Volume of right circular cylinder is:
Y L v s e b S B s LA LA s
} . . . ) The line coplanar with a circle and intersecting the
Normal line Altitude Tangent line Median circle at one point only is called:
&ﬁ‘:}l}'f;/l? S5 U Ul Sslo WU-‘:"UU’L«'; waﬂﬁwﬁ -'LJIL&J/'/&J[(@&—&‘&" 6
Right angled Equilateral Isosceles Scalene . . o ' o
triangle triangle triangle triangle Triangle with no equal side is called:
Ltﬁu}bﬁ v < Flaid 4.?':}(/(7 ol Mt-/’UL’!/"“QJb/dJP "
C(;;cigglc Equal circles Semi circles C%?f;';g'c Circles with equal radii or equal diameters are cailed:
B WP . -1 _ -
B~'A"! ly B! A (AB)" =2 Lfuw| 8
' In matrices (AB)™! =9
i T AG Y
3x —2x2 2x% - 3x 0 x(2x ~3) ?—U’ZJ 2x“=3x| 9
Factorization of 2x2 = 3x is:
<t e alibe tE & slalely < I% (=X ..... Dy 3w X>Y | 10
< less than or > greater than
< less than equal to orequal to | > greater than |If X> Y then (=2)X..... -2y :
4 3 2 1 CESELL S| 1
How many ways to find square root?
! ; 5 2_
x-Dx-5) | x+Dx=5) | x=DE+5) | (x+1)(x+5) GRS (437 -4 12
Factorization of (x + 3)2 -4 is:
: . . | i P@) Jnd 26 PX) x-a fi) 13
If X—2 js a factor of P(X), then P(a)=7?
P(-D=73 : P e 4 2 _ Z
O i - " (=D=?3Px)=4ax*+3x2-5x+1 /1| 14
If P(x) = 4x* +3x%2 =5x +1, then P(~)=?
1 1 3 2 Z‘a.gwgfllﬂ,&'f&/)/ 15
3 2 The order of cubic surd is:
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( Part-1 Jil s ) ]
Write short answers to any SIX parts. F@M}» -é@&&ﬁéal'ﬁl@;d}f

If P() = 9%~ 2x% 4 3x +1_ then find P(O) | ' & PO 3 P(x) = 9x° - 22 +3x+1 S (i)
Multiply:  (2+v3)(5-/3) @+V3)5-V3) -~ N\
if £ =3-V ,then find % . gk x Gat=3-V2 S il
Factorize:  2aX +bx + Gay +3by _ . 2ax +bx +6ay +3by . &4 f" (iv)
Factorize: 8%’ - 51.7 | 8x> *% AT C)
Whether (X=1) is a factor of x2+4x =59 -__ér}" _g.df"’:ZK X% 4+4x -5 L?//E’( (x-1 U“IJ/:':'( i)
Find HCF. :‘ 4abc? , 8abc, Gabdc 4dabc? | 8a3bc.;'6ab_3c . "ér}"‘r)’iblp -(vii)
FindL.CM.: * 12p°¢%, 8p2qr® 12p%? , 8piqr® - géf#ﬁpuim (viii)
Find the square root: x2 - 2xy + y? X2l 2xy + Y2 o c{(}"‘”/b (ix)
Write short answers to any SIX parts. N -J@W’/‘fﬁﬂi ‘ic,(}f
Solve: 32X +5)=25+x 2x+5)=25+x L P @)
Solve:  3x-=D<l+2x ‘ 3(x-2)<1+2x . S G
Solve the inequality: X=7<5-2x X=7<5-2x fg‘::/d’:(@’ﬂ//f (iii)
Write the names of methods to solve quadratic equation. L& rtﬁu;’é’ PSS f»:al;l/d./m (iv)
Solve by factorization: X2 +4x-77=0 X2 flhg T = 0 A Z:J’c_.ﬂ)’édj v)
Solve by factorization: 6x =5x% -8 6x = 5x2 -8 g{d’u Fadk (i)
Find M7l if M =[§ ﬂ M =B Z;] 'flgi’r}v M-t (vii)
Find the matrix product: [% _3][(1) :21] [% _ﬂ[(l) :21] é-;(r}"v/(}’(, K¥UslE (viii)
Define transpose of a matrix with example. ~ Sl Ly ﬂf»ﬂ/‘& A6 (ix)

Write short answers to any SIX parts.

-2 g e §f

Find the value of x in the given triangle:

G eedd x et gl 0]

Define the vertical angle. -éy@ﬁ‘fé.ﬂ)d’/ (ii)
d d _

Write the angles marked with letters: & 145 c 145¢ g{(}” u,:gJu;’:Un}/;U;cj w17 (iii)
T, By

Define the medians of a triangle. ~g,{q,//’(fd_‘-lb/)£oi?‘ (iv)

Construct a square with sides of Jength 6cm, ~ﬂfG JUJé}ﬁf@bd/uﬁ W)

(edt)

o
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Draw an equilateral triangle with length of each side is 5.3cm -nf5.3 é‘}&ﬁz,v.wcwmg,uup (vi)

LU 12 0 5 Qs s b N AT (i)

The sides of a right triangle are S5cm and 12cm. Find the hypotenuse.

Find volume of a sphere whose radius is 3cm. _c‘.f3 Jb/lﬂﬁ -g{r)”r;%/’;g (viit)
Find the distance between points: -1,3).,¢2, -1 -1,3),(¢2, - Ié:(pl”‘,lﬂl?u“v/)éblﬁ? (ix)

-U,,7// 08 ZJiv _é(fagfﬁéomrd.:c_,éf x‘pij.\h:aa.

Part - II, Attempt any THREE questions. Each question carries 08 marks.

ab+bo+ca=8 atbtc=12 LEpedfa’+bl+c (L)

Findthevalueof aZ+b?+c®> when a+b+c=12 and ab+bc+ca=8

'érpgg;z_%{ﬁ; (x=1) y Px)=5x" +14x>+3x2 =5x =3 Jfj (L)
If p(x) = 5x* +14x> +3x2 = 5x =3 is divided by (x —1). Find the remainder.

Find H.C.F. by division method: 43 +2x2—6x , 4> =8x* +4 - Zob e 3 b0 2 (L)

Solve: _}I(z“z) <(7-4x) 7:—(2)( H<(T-40) EJS &)
Solve by using quadratic formula: 36(——%:— = —;4{———-)6(— (x#0) ;éJ’LMJJdJ,,, ()
Let M=[13 ﬂ then find M~! and MM~! - __'épl” MM~ #I M M= [13 4] A ()

Use Cramer's Rule to solve the equation: x+2y=3;x+3y=35 :"é(f(u?bl/cizf_,}d:/:/ (D)

Ut 60° il 45° S Uil Us s Sl 57 S &K et ABC e (L)
Construct a triangle ABC with base length Secm and angles at both ends of base are 45° and 60°
respectively.

i1 QRS 4 b Kosb L L (L)

Find the volume of right circular cylinder with circumference of base 4cm, altitude 1m.

~ULLBET C4,3) 41 B(6,2) AR, 4) Lw/évx.t* (o)
Show that the points A(2 , 4) , B(6, 2) and C(4, 3) are collinear.
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